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SECTION A: COMPULSORY (30 MARKS)
Adtempt All Questions. Each question in this seclion carries 1 Mark,

The teren modem is & composite ward that refers to the two fnctional entities thet make up the device: a signal

. and a signal '

A} modulator; demodulstos B} dempdulator; modualater

) madern; demo 1) monee of the akove

Eilustooth is a techrology that conmects devices {called gadpets) in a small area,

A wired LAN B) wireless LAN C) VLAN DMmone of the ahoee
A regenerates & signal, connects segments of o LAN, and has no fillering capability.

A) repester B} bridge ) router DMaeoe of the above
Devices may be arrangsd in a topology.

A} Clisnil-server B) point-to paint ) apen DMane of the above

Ina conmsction, two and only two devices are connected by a dedicated link.

A} Muliipednt Bpoint-to-podint Cla) and (b) Dance of the above

Which of the falbowing TCP/TP protocal is used for transferring electronic mail messages fram oo machine to
another?

AFTP B.SMTP CAENMP [LRPC E. Mone of the ahove
& distributed network configurstion in which all datafinfoemation pass through a central computer is
Ajbus network B) slar network  Clring network  DiPaint-to-point petwork EfNone of the abave
In fiker aptics, the signal is WA,
A} radio B) wery low freqoency ) infrared ¥ light
The address uniguely dafines a host on the [nbemet.
A phiysical B) Specific C) port D) IP
dars are continuous and lake continwous values
A amalogh) digitalChia) or (b} )] nane of the above

data hawe discrebe states and take discrete values,
A) AnalogB) Digital ] (a) or (k) [} Moae of the above

. Wiich of the following primarily uses guided media?

A)  callalar elephone systemB) Local telephone system
) satellite communications D) radin hroadeasting

. Which of the following is nat a guided medium?

A) twisted-pair cableB) coaxial cableC)  fiber-aptic cable. ) atmosphere

. When a beam aof light travels through media of two different densities, if the angle of incidence is greater than

the critical angle, QCEUTS,
A reflection B} refraction ) incldence in)] criticizm

, Which of ibe following TCPYIP prabocel ks used for fransferring data fram cne mnachine to another?

AFTP B.SMTE C.EMMP DRPC E. Mone of the abowve
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A distributed petwork configuration in which all datainformation pass through o central computer i

Ajus netwark B} star metwark  Ceing network  DjPoint-lo-point netwark EJNane of the
abova
I fiber optics, the signal & WAVES,
AY radio B} very law frequency ) iniframed ) light
The address uniqusly defines a host on the Internet.
A) physical B) Specific C) part D) IP

cables are composed of a glass or plastic inner core summounded by cladding, all encased in an oulside
jacket.
A)Croaxial B)Fiber-optic C)Twisted-pair Dimons of the abowe

. Data can be .
A} analog Bl digital () or (b ) none of the above
consists of a central conductor and a shield

Ay Coaxial B} Fiber-apiic 2} Twisted-pair ) none of the above
The is the physical path over which n message travels.
Protocal B} Medium C) Sigmal D) All the abave

Ti conmect 4 computer with & device in the same room, you might be likely to use
A, Fiber optic cable B, Backbone COUTP Lx Al of the abave

The slowest transmission speeds are those of
A. twisted-pair wire B cosxial cable (C. fiber-optic cable D microwanes

Which af the fallowing TCPIP protocol is used for transferring electranic mall messages from ane machiee to
anogher? :
A. FTP B, 5MTP C. SHMP . BPC
oo 15 mot imtermetworking device,
a)Bridge b} gateway o rouler ) all of them
A simple bridge doss which of the following?
aifilters & data packet b) forwasd a data packed o) extends LAN d) all of the abhowe
Which of the fallowing can be handled by gatewayT?
niprofocal conversion b} packst resizing o) data encryption dj nand b
A repester takes  weakened or cormapied signal and .. A
A) Amplifies b} regeivraics «) resample d) reroates
The irmer core of an optical fiber is in composition,
A) glass or plastic
B3 COppEr
) bimetallic

D) liguid



SECTION B
ANSWER ANY TWO QUESTIONS
QUESTION 2
With the aid of a simple diagram briefly discuss the following four network tapalogies, (20 Marks)
] Hybrid Topology
i) Mesh Topology
i} Slar Topology
i) Ring Topology
¥l
QUESTHOIN 3
Lizcuss the fertures of a survivable system (20 marks)
QUESTION 4
a)  Mentian any five elemenis of communication (5 Marks)
b) Differentiste between a clicnt-server network and i pesr-in-peer network (10 Marks)

2] What are the advaniages af metworks? (5 Mlazks)

QUESTION 5
a) Give in detail any three nefwek processing medes. {9 Marks)
b) Which are some of the certifications that a good Metwark Administrator is suppased o passess? (5 Marks)

€} Apant from certifications, Network Administratars require skills. Explain some of the skills that a good pefwork
sdministrator should possess. (6 Marks)



